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1,4-Dioxane
Response Ratio

Concentration Ratio

      Response = 6.158e-001 * Amt + 1.606e-001
Coef of Det (r^2) = 0.996795   Curve Fit: Linear
Method Name:  Z:\SVOASRV\HPCHEM1\BNA_E\METHODS\8270-SIM-BE030619.M
Calibration Table Last Updated: Wed Mar 25 10:49:04 2015
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Pentachlorophenol
Response Ratio

Concentration Ratio

      Response = 8.777e-002 * Amt - 5.804e-002
Coef of Det (r^2) = 0.990540   Curve Fit: Linear
Method Name:  Z:\SVOASRV\HPCHEM1\BNA_E\METHODS\8270-SIM-BE030619.M
Calibration Table Last Updated: Wed Mar 25 10:49:04 2015


